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Solve 5 + 4b < 21.

‘ + 4b \‘5 <21-5 Subtract 5 from each side.
4b < 16 - Simplify. ‘

1 ExAmpLE

‘E&% < —4— Divide each side by 4.
b<4 ~ Simplify. _
" Check: 5+ 4b =21 Check the computation.
5+44) 2 Substitute 4 for b.
=21V
5+4b< 21 Check the direction of the inequality.
5 + 4(3) < 21 Substitute 3 for b. |
17 <21 v

s Ihe band is making a reglangular banner that is

~ 20 feet long with trim around the edges. What are
"* the possible widths the banner can be if there is no
¥4 more than 48 feet of trim?

YMats: twice the plus  twicethe [canbeno the length

length width more than | of trim
Write: 2(20) + 2w - = 48
2(20) + 2w = 48
40 + 2w =< 48 Simplify 2(20). 3
\Q.-i— 2w ™¢Q = 48 — 40 Subtract 40 from each side.
~ 2w=8  Simplify. |
| \eaﬂ. <8 Divide each side by 2.
w=<4 Simplify.

The banner’s width must be 4 feet or less.
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Solve 3x + 4:5 - X) <2

3x + 24 —4x < 2 "Use the Distributive Property.
—x +24<2 Combine like terms, '
—X +‘3¢ N4 < 2 — 24 Subtract 24 from each side.
-x < —22  Simplify. -

RO7  biide sachsice by 1. Revers the
, | Divide each side by —1. Reverse the j -« -
inequality symbol. : :

x> 22 Simplify.

3D Solve 8z — 6 < 3z + 12.
8z — 6 - 3z <ﬁ + 12;4’2 Subtract 3z from each side.

-6 <12 Combine like terms.
| 5z\€h@,< 12 + 6 Add 6 to each side.
' 5z <18 Simplify.
¥< 1~58- | Divide each side by 5.
z<33 Simplify.

it |
Wt

o 1) = 38
—156+5d=9d — 6 Use the Distributive Property.

—15 + 5d — 9d <"9d~ 6 ™=, Subtract 9d from each side.
| —15 ~ 4d < —6 ~ Combine like terms.
'. xi_g;d‘}qis —6 + 15 " Add 15 to each sid_e.'
| . —4d = 9 Simplify. '
3{ = 4 - Divide each side by —4. Reverse the
inequality symbol.
dz= _2}‘- Simplify.
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